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1. (1)zx(1, 1) = 3, zxy(1, 1) = −4.

(2)

−x+ 2y + 2z − 3 = 0

2x− 3y + 5z − 4 = 0
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(3)2π.
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(6)2��"

2.w,����30 ≤ x9y ≤ 0�x− y ≤ 1���.

dzx = zy = 0�)�µx = y = 0, z(0, 0) = 0;

dx = 0µz = y2, y = −1�z����1;

dy = 0µz = x2, x = 1�z����1;

dy = x− 1, x ∈ [0, 1]µz = x2 − x+ 1, x = 1�z����1;

¤±z�����1.

3.Ï�limx→0
f(x)− f(0)− f ′(0)x

x2
=
f ′′(0)

2
,

¤±∃N0 > 0∀n > N0: |f(
1

n
)− f(0)− f ′(0)

1

n
| < |f

′′(0)|+ 1

n2
, Ï
µ

(1)f(0) 6= 0�§?êuÑ¶

(2)f(0) = 0, f ′(0) 6= 0�§?ê^�Âñ¶

(3)f(0) = f ′(0) = 0�§?êýéÂñ"

4.S(x) = ln(1 +
x

2
), x ∈ (−2, 2].

ln(1 +
x
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) = ln
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+ ln(1 +
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+
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n3n
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Âñ��x ∈ (−2, 4](�=3(−2, 2]þ�S(x)��).
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6. f(0) = 1, f ′(x) = ex + 2f(x)−

∫ x
0
f(t)dt, f ′(0) = 3,

f ′′(x)− 2f ′(x) + f(x) = ex

1 1�



)�µf(x) = (1 + 2x+
1

2
x2)ex.

7(1)p =
∫ 1

0.8
6x(1− x)dx ≈ 0.104.

(2)[0, 0.2],
∫ 1

0.8
(x− 0.8)6x(1− x)dx ≈ 0.0072.

(3)365 ∗ p ≈ 37.96
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